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1. g =cat : tan ' (x+1)+tan ' (x —1) =tan™ %,(x > 0)
Ts AN

tan'(x+1)+tan'(x -1) = tan™’ %

4 (x+D+(x-1) iy 8

I
@ T ey 3

2y’ 31
31x =8—4x’
4x* +31x-8=0
4x* +32x-x-8=0
4x(x+8)-1(x+8)=0
(x+8)(4x-1)=0

1

Jox= _85_
4

>

<

<

A N A oA 4

>

1
x>0 CLox#E-=8 .'.ﬁ'@ﬁfﬂfﬁm, x:Z
) ) P s
2. = tan”'x+tan'y +tan ‘z=? IR x+y+2z=+/3 TF, ST AN FA @, x=y=2.

11
T2 ANI: tan_1x+tan_1y+tan_12=?

_ _ I1 _
tan 1x+tan ! =——tan IZ
) y )

al, l‘an‘l(lij = % —tan”'z
—xp



x+y (H . )
Kl =tan| ——tan z
o l=-xy 2

X+y
I—xy

= cot(tan"lz)

x+y

= cof(cot” l)
z

A, xy+yz+zx=1

WRE,  x+y+z=+3

s XY+ 4+ 2xy+2yz+2zx =3

s X+ 28 +2xy+2yz+ 2zx = 3(xp + yz + zx)
, Xy —xy—yz—zx=0

s 22X +2y° 422" —2xy—2yz—22zx=0

A (x=p) +(r=2) +(z=x)"=0

oG A 5ol AL AR [+
YOI W 7T *
x-=y=0,y-z=04Rz-x=0

xX=py,y=zdRz=x

x =y =z (o)
tan—1 x-1 +tan™ x+1 —E
TG FCAl - <_2 ) 4
AL
_I(x—lj _1(x+1] IT
tan +tan =—
x—2 x+2 4
x—1 x+1
4 ox=2 x+2 _1I
x=2 x+2
X +x-2+x"—x-2 11
3, > > =tan— =1
x°=4—-(x"-1) 4
A, 2x*—4=-3
qa, 2x? =1
1
4l X=i—2 IeAR, e T, X

xy+yz+zx=1



AL e : tan ' 2x+tan ' 3x = % .
A

II
tan ' 2x +tan'3x = Z

A tan 2x+3x _E
’ 1-2x3x 4

A, S5x=1-6x"
A, 6x2+5x-1=0
A, (x+1D)(6x-1)=0

x=—1,l

6
x =—1 e ANFAICE o1 e =71,

1
ez s, ng



